Lacan’s epistemic logic

I Knowledge in the three prisoner's dilemma
Primitive propositions AisWh, BisWh, CisWh
Case 1 A black, B black, C white

0: C Knows CisWh
C sees for himself that
O C egetaloviag TG TTANPOPOPIEG TTOU €XEI yIa TOUG AAAOUG TTAIKTEG KOl TOUG KAVOVEG TOU
TTaixvidiou, SramrioTwvel Ot a@ou ol Aol dUOo TTaiKTES gival Paupol, o id1og 0 C gival A€UKOG.

Etmopévwg o C pelyel £xoviag KataAdBel 6T eival Aeukog.

Case 2 A black, B white, C white

o: B Knows that { =BisWh — ( C Knows CisWh)}
d: B Knows that { —=BisWh — 06}

B took the time to reason that:
If B is black, C would see for himself that

O B éxovrag urrei orn 6éon rou C avaAoyilerai Ori:

Av o B Arav paupog, o C ¢eTtddoviag TS TTANPOPOPIES TTOU £XEI YIa TOUG AANOUG TTAIKTEG
KQl TOUG KAVOVEG Tou TTaixVIBIoU Ba diatrioTwve OT, apou ol GANoI dUO TTAIKTEG ival paupol,
0 id10G 0 C €ival AeukoG.

Apa o C Ba £peuye xwpic va TePIUEVEL, €XOVTAG KATAAAREI OTl gival AcUKOG.

Opwg o C dev peuyel. ETTopévwg o B @elyel Bewpwvtag Om gival AeukoG.

AvTicToixa oké@Ttetal o C umraivovrac orn 6éon tou B.



Case 3 A white , B white, C white

A Knows that { —AisWh — B Knows that ( —BisWh — C Knows CisWh) }
b: A Knowsthat { —-AisWh — ¢}

A hastens to conclude that:
If A is black, B will have taken the time to reason that:
In case B were black, C would see for himself that

O A emeryouevog va karaAnel os CUNTTEPAOA TTAIPVEI KAT' ApX )V UTTOWI TOU OTI.

Av o A Arav paupog, o B éxovrac urrei atn Aoyikn rou C

Oa éxer avaAoyioTei o Karmoia ueAAOVTIKR aTiyun, Ot
av o B Atav paupog, o C Ba diaTtmioTwve O gival Aeukdg
(agou o1 GAAoI dUO TTAIKTEG €ival paUPoI) Kal Ba EQPEUYE XWPIC va TTEPINEVEL.
Mn BAéTTovTag Tov C va @elyel 0 B TAéov Ba @uyel xwpic GAAn kaBuaoTépnon,
BewpwvTag OT gival AeUKOG.

Opwg av o B puyer mpiv Tov A, Bewpwvtag 6T gival AeUKOG:
0 A O¢v Ba urropéoel va kartaAnéel o€ oCUUTTEPAoua a@ou To idlo Ba cuvERaive
otV TTEPITITWON TTou 0 AfTav Jaupog.

Emopévwg o A omreuder va puyel mpwTog 0 id10¢ Kal va dnAwaoel 6T gival AeUKAG.



1 Primitive proposition P

Detective d is following suspect s

0: s Knows ( dis following s ) Instant of the Glance
s Knows P

s sees for himself that P

od: d Knows (s Knows (dis followings)) Time for
Comprehending
d Knows 6

d took the time to reason that
(s would see for himself that P)

P: s Knows (d Knows (s Knows (dis followings)) Moment of Concluding
s Knows ¢

s hastens to conclude that
( d will have taken the time to reason that
(s would see for himself that P))



Il Knowledge and co-ordination on the bus

Primitive propositions l-heard , You-heard

Messages ‘| get off the bus’ ‘You get off the bus’
Signifiers ‘I stay on the bus’  ‘You stay on the bus’
1 Instant of the glance

B[ You]: You Know I-heard

When Isee for myself that You get off the bus:

OTtav kaTeBaivelg atrd 10 Aew@opeio, BACEI TWV KOIVWV YOG TTPOTIUNCEWYV SIaTICTWVW
Om yvwpiCeIg 6T dkouoa.

Omore: KareBaivw armo 1o Acweopeio..

2 Time for comprehending
@[1]: I Know {6] You] — 'l get off the bus' }
I take the time to reason that
In case you knew | heard, you would get off the bus:
Exovrag umei orn 6éon oou avaAoyi{ouai otr: av yvwpIideg 6T Gkouoa,

Bdoel TV KOIVWV Pag TTPOTIMACEWYV Ba atro@Aaci(eg va KATEREIG.

Omore Orav e0U mapauéVeEIS OTO Acw@PopEio, Eyw TTAPAUEVW OTO AcWPOoPEIo, .

3 Moment of concluding

Y: | Know { 'Istayonthebus' - (¢@[You] A You Know {—-6} ) }

I hasten to conclude that
If |stay on the bus,
You will have taken the time to reason that
in case | knew you heard you would see me getting off the bus
and thus you will conclude that | don't know you heard

Eyw emreiyouevog va karaAnéw os Cuputrépaocua maipvw Kar' apxnv umroyi Jou ofi.
Av dev KaTEBW aTTO TO AeWQPOPEIO, £0U Ba ExeIC avaAoyioTei o KATTOIA UIEAAOVTIKY OTIyUn OTI:
Av yvwpida 0TI GKOUOEG, BACEI TWV KOIVWV PAG TTPOTINACEWYV Ba KaTtéBaiva.

BAéTTOVTOG O TTApapéVw OTO Acw@opeio, Ba cuuttEPAVEIG 0TI OV yVwPIlw 6Tl AKOUCEG.
Apa Ba aTToQACicEIg va TTAPAUEIVEIS, KAl Ba TTapapEivOUPE Kal 01 dUO 0TO AeWPOpPEIO.

Orrore: 21TEUOW va KAateRw o idiog.



